HENEREREES i
SH4E2H228 (KX)

6:550) (81 @ kg )
PEE S RiEL B E = B Z B " =

SE 238 £S5 693.2 1,589 319
HAF LA 65.0 248 36
AABFI LA 24.9 989 100
JURHLA 3,355.8 1,144 70
LSHLA 188.6 689 30
FAHLA 54.2 450 30
TFELSHLA 545.2 1,050 150
=LA 201.8 359 41
HSRFLA 339.4 239 23
SCh 1,594.6 200 26
2 RS 88.6 74 20
2O00F 290.0 299 20
FARLY 1,133.2 1,555 456
<7+ 76.0 1,090 309
TVAVTAF A 83.9 251 20
IVAYVTAF A 25.0 1,381 759 | o
*7>07 4,644.8 498 31
NFHTS 527.1 50 28
=L S 27.0 889 419
FAF A 50.1 1,296 229
2ZF 25.3 959 600
AADFASFH 29.6 1,543 309

I 14,063.3




[fi¥£a]) (847 kg )
FRZETELE AfEE W =2 = B Z 1B fm &
ShE 238 REAR 29.6 939 20
IAHYT 1,036.0 1,020 20
U5 463.0 836 169
U A P 170.0 5,311 4,239 |2 <"
T2 RYA S 410.1 513 291
<5 44.2 789 100
=247 59.7 779 576
4T 2,108.5 660 36
AFF<3 992.9 1,600 700
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19,377.3




[f¥fa] (BT ¢ kg )
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foRiE 16% AZHITZSTA 506.8 2,800 700

INGHERE 506.8
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WE 238

1,300

1,100
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